Economics 102

Problem Set 5
Professor Gindling

1. Using the concept of the production function, 

a) explain why increasing spending on education might increase the rate of economic growth in the long run,

b) explain why replacing the income tax with a consumption tax might increase the rate of economic growth in the long run.

2. Some in the U. S. Congress have proposed that taxes on interest income be eliminated.  Describe the reasons why the elimination of the tax on interest income might lead to faster long-run economic growth.

3. 

a) Economists generally agree that high government budget deficits will reduce the long-term growth rate of the economy.  Why?  

b) Do the reasons for the high budget deficit matter?  That is, does it matter whether the increased deficit is caused by a transfer of $100 to every American resident or higher spending on education?
